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1 (a)

e
Y

Section A : Analog Circuits + Electromagnetics

A two element array consists of collinear hertz dipoles. The element spacing is % . Find

the directivity of the array when the elements are excited in phase.
[16 glarks]
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1(b)

Two planar slabs of equal thickness but with different dielectric constants are shown in

below figure. E; in air makes an angle of 30° with the z-axis. Calculate the angle that

E makes with z-axis in each of the three regions A, B and C.

Z

EO
30°
!
2 28,
______________ =
€, o R g,

[12 marks]
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1=

A line of 300 Q characteristic impedance is terminated in an admittance of 0.01 +; 0.02 U.
Find:

(i) The reflection coefficient at the load-end.

(ii) Reflection coefficient at a distance of 0.2A from the load-end.

(iii) Impedance at a.distance of 0.2A from the load-end.
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[12 marks]
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1(d)

of R1 and R..
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Consider the circuit and the gain-frequency characteristics given below. Find the value
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Q.1 (e)| In the following amplifier circuit, assume that R = 2 M&, R, = 100 kQ, R, = 2 kQ,
£, =10mS, A=0and 7, = ce.

Find A, R, R, and A; =2
l.
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density is, J; = 60sin(10°£~Bz)a, mA/m?.
(i) Find Dand H.

(ii) Determine 3.

§
i
e

Q.2 (a})| In a certain region for which o = 0, u = 2 p, and ¢ = 10g;, the displacement current

[20 marks]
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Q.2(b)

(i) A silicon transistor with f§ = th = 100 is used in the circuit shown below. Find the
maximum input supply voltage “ V. for which transistor remains in saturation region.

Assume VCE ey 0.2V and o = 0.8 V.
12V
25kQ
20 kQ
o_
Vi
50 k€2
-12V

(ii)) Forinput voltage of 2 volt, it is noted that the above circuit is in cut-off region upto
100°C. Calculate the reverse saturation current (I.,) of the circuit at room
temperature. (Assume room temperature as 37°C)

[12 + 8 marks]
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(c)

(i) Determine the s-parameters for the given two-port network:

© 0

80 Q

(ii) A uniform loss-less transmission line with a characteristic impedance Z, = 100 Q

has a length of 0.65A. The line is driven by a time-harmonic source with a 2 V
Thevenin voltage and a 50 Q internal impedance. The line is terminated by a load

Z, = (25 -j25)Q.
1. Determine the input impedance of the line.

2. Determine amplitude of the forward wave, V; !

[10 + 10 marks]
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Q.3 (a)

Po*

(i) Inaone-dimensional device, the charge density is given by Py, =
If electric field, E = 0 at x = 0 and potential V=0 at x =g, find V and E.

n

A
(i) Two 1 transformers in tandem are to connect a 50 Q line to a 75 Q load as shown

in below figure.

" A
Z,=500Q Z Z % 75 Q
T S
4 4
Determine the characteristic impedance Z , if Z , = 30 Q and there is no reflected

wave to the left of A.
[12 + 8 marks]
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Q.3(b)

3%
In the following amplifier circuit, assume that Vp,, = 15 V, inCo - =225p4/ V2,

Vin=-3V,R;=22MQ, R, =75kQ, R, =10kQ, R, = 220 kQ, A = 0.015 N,

+Vpp

(i) Draw the dc equivalent circuit and find the Q-point for the amplifier.

(ii) Draw the ac equivalent circuit of the amplifier. Assume all capacitors have infinite
value. Obtain the values of R, , R, and A_ for the small-signal equivalent circuit
of the amplifier as shown below:

AAAA

[20 marks]
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Q.3 (c})| (i) Consider a plane wave with an electric field intensity E = —E; cos(wt —Bz)j V/m
where E,=1200 V/m and f= 400 MHz propagating is in free space. Assume lossless
propagation.

1. What is the direction of propagation of wave?

2. Calculate the instantaneous and time averaged power densities in the wave.

3. Calculate the total instantaneous and time averaged power transmitted by the
wave.

4. Suppose a receiving dish antenna is 2 m in diameter. How much power is
received by the receiving antenna if the surface of dish is perpendicular to the
direction of propagation of the wave?

(i) Obtain a wave equation of the electric scalar potential V for a time varying field.
[15 + 5 marks]
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Q4 (a)

\Z

(i) Design a voltage divider bias network using a depletion type MOSFET with
Ings=10mA and V, = -4 V to have a Q-point at I;,, = 2.5 mA using a supply of
24 V. In addition, set gate voltage, V=4V and use R, = 2.5 R, with R, = 22 MQ.
(All the notations used are standard one)

(ii) Design a voltage regulator using zener diode that will maintain an output voltage
of 20 V across 1 kQ load with an input that will vary between 30 and 50 V. Specify
the proper value of limiting resistor R, and the maximum zener diode current I

zm"

o [10 + 10 marks]
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4 (b)

- [10 + 10 marks]
10)
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() A2cm x1cmwaveguide is made of copper (0, = 5.8 x 107 S/m) and filled with a
dielectric material for which € = 2.6¢,, . = i, 6, =10 S/m. If the guide operates at
12 GHz, evaluate attenuation constant due to dielectric losses (a.;) for TE,, mode.

(ii} - Alossless 60 & line is terminated by a load of 60 + je0Q.If Z. =120 -760 Q, how far
(in terms of wavelength) is the load from the generator?
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4 (c)

\\&

(i) Design a monostable multivibrator using 555 IC which generate a pulse of 1 ps
width when trigger input is applied. Use a capacitor of 325 pF. Explain the circuit
operation with waveforms.

(ii) A full-wave rectifier uses a transformer with secondary voltage of 50 V___and
diode having internal resistance of 20 Q. A 6'H inductor of DC resistance 30 Q is
connected in series with load resistance of 650 Q. If line frequency is 60 Hz and DC
resistance of secondary winding is 45 Q, calculate:

1. Ripple factor.

2. DC output voltage and AC output voltage.

3. Regulation factor.
| D0
A = 2031 :
L = 6H bem: 5@

[15 + 5 marks]
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Q.5 (a)

Sole

Section B : Analog Circuits + Electromagnetics

i3
An electric field strength of 10 uV/m is to be measured at an observation point 8 = 5

500 km from a % monopole operating in air at 50 MHz.

(i) What is the length of the dipole?

(i) Calculate the current that must be fed to the antenna.
(iii) Find the power radiated by the antenna.

(iv) If a transmission line with Z, = 75 Q is connected to the antenna, determine the

O
: 0 -1l 5
quz}m g% ¢ @;%LOS)

standing wave ratio.
[12 marks]
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5(b)

\ o 0 O '
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In a conducting medium, the magnetic field is given as
H=yza, +2(x+ 1)yzd, -(x+1)z%4, A/m.
Determine the conduction current density at point (2, 0, -1). Also find the current enclosed
by the squareloopy=1,0<x<1,0<z<L.
e 3" [12 marks]
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.5 (c)| Prove that Bypass capacitor in common emitter amplifier is used to enhance the voltage
gain of the amplifier.

Dpd
Ww* | Yoy Common Cmithey Oﬂ,m[ifuﬁﬂi(.' [12 marks]
e er




MRADE EASY Questiorf\\ Cum Answer Booklet | Page 38 of 65

o NO
write in
this marg

when Bu{pas& C&P)QEF‘OZ& {fx Not Jpw,g@m ,

Re ¢
Ve K R VY\/«)
! k8 fj -
Vi s Y B\b -;%{2 ‘_IRL
= @5

\Vp = waLb (R ”RL (’Fﬁ/@
\y = CR%*“)% Re Ubjrg"b)

Vi= [L@m)wtﬁr—rﬁ)] "
VO i ——[BCRL\HQL) 2 ‘4@

-

,jj@fﬁ'% ]

fun © opd () g Ueag Hob

uohm c/apagfroa’ . not connatied +hen
Hhe  AYBkem oo i X

(i
'uohf)u b (OULSE 1{% Wﬁéﬁx
&g % ghott ¥ Led!

apm @ncro,am

\




MBDE EBRS4Y Question Cum Answer Booklet

Page 39 of 65

Do not
write in
this margin




MBDE ERNS%4Y Question Cum Answer Booklet | Page 40 of 65

Do not
write in
this marg

Q.5 (d)

NTE

An application requires the use of a band pass filter having a roll-off rate of 40 dB/ decade
and cut-off frequencies f; = 2 kHz and f, = 4 kHz. Using the Sallen and Key sections, a
band pass filter is designed to get maximally flat Butterworth frequency response. The
low pass and high pass sections are shown in figure below.

R, R,

AAAN AAAA
J- YYyy ey
=0V

R R i
o— MM —1—W—

Vin o= =
Lo I =
by = 0y

11

(a) 2" order low pass section (b) 2" order high pass section
(Assume R; =1kQ, C=10®Fand C, =107F)
Determine the numerical value of R,, R, and R.

[12 marks]
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Q.5 (e)

Sl

MBEDE ERSY Question Cum Answer Booklet

Consider the circuit shown below:

Ve (18 V)

Tctig

Re=16Q
Ry=12kQ

Ic

il B=40
% 100 F

(i) Quiescent point

Determine:

(ii) DC input power
(iif) Output Power
(iv) Power Efficiency

(Assume base current due to ac source, I; =5 mA rms)

18- 16%1.~ Veg =0
1% - rexﬂé\'gﬁ:—‘/&?

—

X 10

[12 marks]
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(i) Consider the circuit shown in figure below:

R3 RZ
‘V‘N" "“""'
\“ R Vol
R, R,
= ut

Vl

VZ

Q

0o 2 . V.
Assuming the two op-amps to be ideal, calculate the value of ﬁ
R

(i) If the diodes in the circuit shown below are ideal and the breakdown voltage V, of
the zener diode is 5 V, find the power dissipated in the 100 Q resistor.
50Q 100 £

10'sin(100 7tf) V Zener 5V
Diode

) Vi 0 Vi —V v V | [10 + 10 marks]
5 e e o i Lt —{
() z = f T5 0 ( )
Vs Vo1 &8 \/99\ = {87 =0 7‘@
S R, \ - o

——

fom @)/ \&%_VO%WL\/QR(—VM R,=0
VolR,+ R “Veut Ri = Vg ©

=y

at

Ry
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Q.6 (b)

Sow'

(i) An air-filled rectangular waveguide of dimensions a2 = 2 cm, b = 4 cm transports
energy in the dominant mode at a rate of 2 mW. If the frequency of operation is
10 GHz, determine the peak value H, of the magnetic field in the waveguide.

(i) In free space, H =0.2cos(wt—Px)a, A/m. Find the total power passing through a

square plate of side 10 cm on planex+y§1_
O o= fem  boyem  P= &m

}\}12 + 8 marks]
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Q.6 (c)

SVITRS

(i) The transistor shown in the figure below has V=1V, and p,C,, (%J =2mA/V2, -

Determine the drain voltage.

33V
10kQ =R, N
Vg VR
1@ e,

(ii) Define transconductance, dynamlc drain resistance and amplification factor of JFET.

2. [14 + 6 marks]
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b= e rigAlh |
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7 (a)

=

(i) A section of a rectangular waveguide of cross-section 2 cm x 1.5 cm operating in
the dominant mode is to be used as a delay line in a radar at 10 GHz. What should
be the length of the section to realize a delay of 50 nsec?

(i) Draw the voltage standing wave patterns for the following types of load impedances
of the transmission line :

1. Complex Inductive load (R+iX)
Complex Capacitive load (R ~ y iX)
Pure resistive load (R) SRR
Pure Inductive load (+/X)

Pure Capacitive load (-jX)

Y )

[10 10 marks]
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Q.7(b)] (i) The7414C Op-Amp having the following parameters is connected as shown in the
figure.

Vin

Open loop voltage gain A = 20000, R; = 2 MQ, R, = 75 Q, f;, = 5 Hz, supply
voltage = 215 V and output voltage swing = £13 V.
Find Af, Rif and Rof of the op-amp with feedback.

(ii) Draw the circuit diagram of voltage to current converter with floating load using
op-amp. Derive the necessary equations that describes its operation.
[15 + 5 marks]

ol () A= €x10', RP= M, Ro= 7552 fo=5H2
voltage = £15V voltag e SwiNg. = F3vy
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A uniform plane wave is normally incident on an infinitely thick dielectric slab, having
dielectric constant 10 and loss tangent 107 at ® = 10%° rad/sec. If the power density of
the incident wave is 100 W/m?, find the power density of the wave in the dielectric ata
distance of 10 m from the surface. .

Lot W= )D " 500 10 marke

=10 ‘_6_1 — ‘O
0. = 100 W
P;MQM Dg:j\;aﬂ o . d_t ]Om
VNIV ¢ ==lell
oo « PWM hff
s 7 wg
b B -éxz
P | ¥
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The circuit given below is made by three ideal operational amplifiers (op-amp):

©

Q8 (a)

YYvyY

AAAA
AL A A B4

® =
<L -
S S
- &5
V
®l

AAAA
L8 4 4 S
> © .
I WW—
.«
N

v, 23 @
(i) Specify the type of circuit. Comment upon its CMRR in comparison to op-amp.
(ii) Find the expressions for voltages at points (@), (3), ©), (@ and (¢).

(iii) If V, =5V and V,=5.05V and V, (voltage at point (¢)) is 5 V, find the ratio R/R -
and R,/R;, when overall gain is divided in the ratio of 10 : 1 between first and.

second stage of the circuit.
[20 marks]




MABADE ERSY Question Cum Answer Booklet

Page 59 of 65

Do not
write in
this margin




MBDE EBRS4Y Question Cum Answer Booklet

Page 60 of 65

Do
wiit
this




IMADE ERAS4Y Question Cum Answer Booklet | Page 61 of 65

Do not
write in
this margin

(b)

(i)

(ii)

The radiation resistance of an antenna is 280 € and the efficiency factor is 0.8.
Calculate the loss resistance R, _ if the magnitude of the current is I,=5 A. Also,
calculate the power radiated and the ohmic loss.

An antenna in air radiates a total power of 100 kW so that a maximum radiated
electric field strength of 12 mV/m is measured 20 km from the antenna.
Find: 1. its directivity in decibels,
2. its maximum power gain if 1, = 98%.
[12 + 8 marks]
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(c)| (i) For the circuit shown in the figure, assume 8 = k. = 100.

-10V

3kQ

1. Determine if the silicon transistor is in cut-off, saturation or in active region.
2. FindV,, Vo, Ve
Assume V.. =-02Vand V., =-08V.

s : F, St
(i) With reference to a BJT, show that 9F < -é—l—- must be satisfied in order to prevent
Fil SRl
thermal runaway. Here, P . is the heat generated at the collector junction, T} is the
junction temperature and 6,, is the thermal resistance between the junction and
the air.

[12 + 8 marks]
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